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Sentence Jumbles Questions Overview

Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Sentence Jumbles Questions.

Question

Rearrange the following sentences to form a correct passage. A. By placing such an impractical condition a year before
the Assembly elections, he has lent credence to the charge that he is a reluctant political player with a big gap between
aspiration and effort. B. Not only has he ruled himself personally out of the electoral race, but he has mandated his
followers to show “a wave of resurgence” among the people for him to launch a party. C. Two years after declaring himself
worthy of filling the perceived political vacuum in Tamil Nadu, Rajinikanth appears confused and doubting. D. He expects
people’s endorsement of his three-point strategy for an alternative model of politics.

Difficulty : Moderate Average Time: 56 Seconds

Options :
1. CBAD

2. BDCA
3. ACBD

4. DCBA

Solution

The correct answer is option 1, i.e. CBAD.

1. Sentence C introduces us with the name 'Rajnikanth’ whereas the rest of the sentences only have pronouns. So, we
get a stark introduction of a specific person in sentence C, hence making it the first statement of this passage.

2. Sentence B adds more meaning to the initial statement by talking about the person's position in his current
condition.

3. Sentence A starts with 'by" which implies that it means to continue the meaning of the previous sentence. The first
sentence does not hold a connectivity to the third sentence as much as the second one does so sentence A will
occur at third place.

4. Sentence D concludes with the person's expectation after the passage specifies his position and intent in the whole
scenario. So, this will be the concluding statement of the passage.
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This sequence is the correct one as it narrates in a proper order how Rajnikant's ascension towards politics landed himin
a certain position and what were his expectations regarding a new model for politics. The other sequences do not
narrate the same in such a clear light.
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